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Q.1) Allobjective questions are compulsory (20)

A) Write the word/term/phrase which can substitute each of the following statements. (05)

1) Officer appointed by Govt. for noting of dishonor of Bil l.
2) Credit balance of Trading Account.
3)Capital  Employed X N.R.R

L00
4)Liabil ity l ikely to arise in future on happening of certain events.

S)Amount which is not recoverable from Drawee on account of insolvency.

B) Do you agree / disagree with the following statements.

1) Amount borrowed by partner from his business wil l be debited to Current Account.
2)Accumulated profit is to be shown on Assets side of Balance Sheet.
3) Revaluation account is also known as Realisation Afcount.
4) .Renewal is a request by Drawee to extend the credit period of the bil l .
5)Calls-ln- Advance account is shown as Nominal Capital.

(0s)

C) Complete the sentences.

1) When commission is allowed to any partner, it is

(0s)

of the business.
2) The Transactions recorded in lncome and Expenditure Account is related only to the

year.
3)When Goodwill is raised up -Account is debited.
4) Realisation account is _ on realisation of assets.
5)_ shareholders get f ixed rate of dividend

D) Select the correct option and complete the sentence. (05)

1) All indirect expenses are debited to Account.
a)Trading b) Capital c) Profit & Loss d) L'"bil ' ' t i*
2) Donation for scholarship fund is
a)Capital receipt b) revenue receipt c) capital expenditure d) revenue expenditure
3) | fasse t is takenoverby thepar tner ' -account isdeb i ted .
a) Revaluation b) capital c) asset d) Balance sheet
4) Death is compulsory
a) dissolution b) admission c) retirement dlwinding up
5) Assets and liabil i t ies are transferred to Realisation Account at their _value.
a) market b) purchase c) sale d) book
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e.2) Vikram and Pradnya share profits and losses in the ratio 2:3 respectively. Their Balance Sheet

as on 31't March ,29!8 was as under. (10)

Balance Sheet as on 31't March,20L8
Liabilities Amount

(Rs.)
Assets Amount

(Rs.)

Creditors 105000 Cash 7500

Capitals: Lan & Bui ld ing 37s00
Vikram 75000 Plant 45000

Pradnya 7s000 Furniture 3000
Stock 75000
Debtors 87000

2,55,000 2,55,000

They agreed to admit Avani as a partner on 1't April,2018 on the following terms.

1) Avani shall have 1/4th share in future profits.

Z) She shall bring Rs.37500 as her capital and Rs. 30,000 as her share of goodwill .

3) Land and Building to be at Rs.45000 and Furniture to be depreciatedby !0%

4)provisions for bad and doubtful debts is to be maintained atSYo on the Debtors.

S)Stock to be valued at Rs.82500

The capitalA/C of all partners to be adjusted in their new Profit and Loss ratio and excess

amount be transferred to their loan accounts. Prepare Profit and loss Adjustment Account,

CapitalAccounts and New Balance Sheet. 
OR

e.2) Rohan, Rohit and Sachin are partners in a firm sharing profits and losses in the proportion of

3:1:1 respectively. Their Balance Sheet as on 31't March ,201.8 is as follows (10)

Balance Sheet as on 31st March ,201,8
Liabilities Amount (Rs.) Assets Amount (Rs.)

Creditors 40,000 Bank 12,500

GeneralBeserye 50,000 Debtors 60,000

Bills Payable 25,000 Livestock 50,000

CapitalAccounts Bui ld ine 75,000

Rohan 1,25,000 Plant and Machinery 35,000

Rohit 1,00,000 Motor Truck 1,00,000

Sachin 50,000 Goodwill 57,500

3,90,000 3,90,000



On 1st, April,2018 Sachin retired and the following adjustments have been agreed upon:
'L)Goodwillwas rgvalued on Rs. 50,000
2} Assets and fiabil i t ies were revalued as followsi '

Debtors Rs.50,000, Livestock Rs.45,000 Building Rs. 1,25,000, Plant and Machinery Rs.30,000,
Motor Truck Rs.95,000 and Creditors Rs.30,000.
3) Rohan and Rohit contributed additional capital through Net Banking of Rs. 50,000 and
Rs.25,000 respectively.
4) Balance of Sachin's Capital Account is transferred to his loan Account.

Give journal Entries in the new firm.

Q.3) Sitaram, Gangaram and Rajaram are partners sharing profits and losses in the ratio of 4:2:3.
On 1st April,2019 they agreed to dissolve the partnership, their Balance Sheet was as follows. (10)

Balance Sheet as on 3Ltt, March,zOLg

Liabilities Amount (Rs.) Assets Amount (Rs.)

Capital Accounts: Bui ld ing 55,000
Sitaram 65,000 Machinerv 25,000

Gangaram 45,000 Furniture 12,000
Rajaram 7,000 lnvestments 15,000

Bills Receivable 3.500
Reserve Fund 18,000 Sundrv Debtors 2l,o0o

Profit & loss Account 5400 Stock 28,000
Loan from Tukaram 10,000 Cash ln Hand 5,500
Sundry Creditors 12.000 Cash at Bank 2.000
Bills Payable 4,600

L,67,000 7,67,0OO

The assets realised : Building Rs.46,750; Machinery Rs. 18,550; Furniture Rs.9600;
Investments Rs. 10,650; Bills Receivable and Debtors Rs. 20,750. All the liabilities were paid.off.

The cost of realization was Rs.800. Rajaram becomes bankrupt and Rs. 1100 only was recovered
from his estate.

Show Realisation Account, Bank Account and Capital Account of the partners.

OR



Q.3) Journalise the following transactions in the books of Virendra: (10)

1)Viren retires his-acceptance to Bhupen by paying Rs.4,000 in cash and endorsing a bil l  accepted

by Lalit for Rs.5000.
2)Vikram's acceptance to Virendra Rs.6000 retired one month before the due date at rebate of

L2% p.a.
3)Diwan renews his acceptance to Virendra for Rs.12,000 by paying Rs.4000 in cash and

accepting a fresh bil l  for the balance plus interest at !2% p.a. for 3 months.

4) Bank informed Virendra that, Kaveri's acceptance for Rs.13,000 to Virendra, discounted with

the bank was dishonoured and Noting Charges paid SRs.140.

4.4) Priya Co. Ltd. issued 50,000 equity shares of Rs.100 each payable as follows: (08)

On application Rs. 20
On Allotment Rs. 30
On First Call Rs. 20
On Second and Final Call Rs.30
Applications were received for 44,000 equity shares and allotment of shares were made to them.

:',, All money was received except one shareholder holding 100 shares failed to pay second call

money' 
Pass journal entries in the books of Priya co. Ltd.

OR

Q..4) What is CAS and explain its features (08)

e.5) Raghav, Madhav, and Vibhav were equal partners on 31st March, 2019. Their Balance Sheet

was as follows on 31't March, 2oL9 (08)

Balance Sheet as on 31st March ,20L9

Liabilities Amount (Rs.) Assets Amount (Rs.)

CapitalAccouqlg Bui ld ing 4,00,000

Raghav 5,00,000 Furniture 3,00,000

Madhav 2,00,000 Sundrv Debtors 3,00,000
Vibhav 2,oo,ooo Stock 1,00,000

Sundry Creditors 90.000 Cash ln Hand 1,00,000

Bill Payable 60,000
Bank Loan 1,50,000

12,00,000 12,00,000



Raghav died on 30th June, 2019 and the following adjustments were agreed as:

1) Furniture was io be adjusted to its market price of Rs.3,40,000.
2) Land and Building was to be depreciate d by tO%
3) Provide R.D.D. @ 5% on debtors.
4)The profit upto the date of death of Raghav is to be calculated on the basis of last year's profit
which was Rs.1,80,000.
Prepare only 1) F C^pt tq\nlC 2) Balance Sheet of the continuing firm.

OR

5) Prepare Common Size lncome Statement for the year ended 31.3.t7 and 31.3.18 (8)

Particulars 31.3.17 (Rs.) 31.3.18 (Rs.l
Sales 2,00,000 2,50,000

Cost of Goods Sold 1.50.000 1,70,000
Office and Administrative Expenses 4,000 6,000

Sell ing and Distribution Expenses 6,000 1,000

Q.6) From the following particulars relating to ' Rama-Madhav CharitableHospital ?maravati,
Prepare Income and Expenditure Account for the year ending 31.03.2020 and Balance sheet as on
that date.
Dr.

(12')
Receipts and Payment Account for the year ending 31.03.2020 Cr.

a

Receipts Amount
(Rs.)

Payment Amount (Rs.)

To, Balanceb/d By, Medicines purchased 41,000
Cash 8230 By, General Expenses 1,050
To, Subscriptons 52,000 By, salaries 23,500
To,Donations i-. 17,500 By, stationery 2,000
To, Interest on
Investments

10,000 By, Expenses on Charity
show

550

To, Proceeds from
charitv show

8530 By, Surgery and
Dispensary expenses

4,2O0

By, Equipments 10,000
By, Balance c/d
Cash in Hand - 960
Cash at Bank -13,000 13960

96,260 96,260



Additional lnformation :-

Particulars 1.4.20L9 3L.3.2020
1. Subscription Due 310 350

2. Subscription received in
advance

600 150

3. Stock of medicines 8000 11,000

4. Estimated value of
Equipments

15,000 ?

5. Buildines 40,000 ?
6. Capital Fund r,70,94O ?
7. L0% Investment 1,00,000 ?

Provide depreciation on Equipments Rs. 1900 and on Building Rs.1500 .

7) From the following Trial Balance and adjustments of Kumbhar and Maruti you are required to
prepare Profit and loss account for the year ended 31st March,2020 and Balance Sheet as on that

date. g2l

Triaf Balnce as on 31't March,2O2O

Liabilities Amount (Rs.) Assets Amount (Rs.)

Stock (1.4.2019) 35,000 Sales 3,30,000

Salarv and wages 4,200 Discount 4,000

Cash 10,000 Creditors 30,000

Purchases 2,25,20O lnterest on Investment 9,000
Sundry Expenses 13,600 Capital
Wages 12,000 Kumbhar 60,000

Bills Receivable 6,000 Maruti 40,000
Travell ing Expense 2,000
Bad Debts 3,000
Factory Expenses 8,000
Commission 4,000
lnvestments 20,000
Debtors 40,000
Tools and Equipments 6,000
Furniture 12,000
Goodwill 21,000
Bui ld ine 50,000

4,72,000 4,72,000



Adjustments :-

1) Partners share Profit and l-oss in the ratio of their capitals.

2) Closing stock is valued at cost Price Rs.40,000 and at Market Price Rs.45,000.

3) Kumbhar has withdrawn goods worth Rs.1200 for his own use, but no entry is made in the

books.

4) Uninsured goods worth Rs.12,000 were lost by fire.

5) Rs.450 are to be written off as bad debts

5) Unpaid expenses : Salary and wages Rs.800; Rent Rs.1200.

7) -Depreciate Building.@ 7 .5% p.a.

* rr * * * *,f rt( {. * * !t * * 1. *,r tf * * * * * * * * * * tt(,lc * * * :F !r * * * * * * * ts * * * * * * * * * *,t' *c*.',",
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q,.il. Choose the correct option. 5

L) The branch of economibs that deals with the National Dividend study.
a) micro economics. b) partial equilibrium
c)macroeconomics. d)Aggregatestudy

OPTIONS
1) a,b,c. 2l a,b,c,d
3)a,b. 4) c,d

2) The Goods demanded to satisfy many wants together
a) Direct demand. b) lndirect demand
clJoint Demand. d) Composite demand

OPTIONS
1) a,b. 2) a,b,c by
3) only d. 4)only c

3) Product differentiation is a feature of this market.
:, ' ' a) Monopoly. b) monopolistic competition

b) Perfect competition. d) oligopoly

OPTIONS
U a,b,c. 2)only b
Q only c. 4) only d

- J t - -

4) Economist who is of the view that public finance is one of those subjects which
of the principals underlying the spending and raising of funds
a)Adam smith. b) Dr. Marshal l
c) Prof. Huge Dalton. d) prof. Findlay shirts

Optiorrs
1) c,d. 2l a,c
Z) only c. 4) only d
J

5) Concepts of foreign trade.
,- a) lmport, b) Export

",t c) Enter-pot trade. d) close trade
OPTIONS
1)a,b,c. 2l a,b,c,d
3)a,b.  4 l  a ,d



l '

B. Complete the correlation.

1) Macro Hconomics:..................: : micro Economics: Worms eye view
2) Singfe seller: ....... : :Large number of sellers:Perfect competition
3) Price and Quantity demand: Inverse co relation : : Price and quantity supply

4) Industrial production: Quantity index : : Inflation : ....................
5) Union Bank of lndia: Commercial bank: | ............r. : Central bank

C. Give economic terms for the following destinations.

1) Util ity of a commodity increases with a change in its place of util isation.
2) Since Rudras salary has increased He has bought 5 kg of rice Instead of 3 kg

rice which he buys normally
3) The market where sai+orfare price takers
4) After processing rnai5"dliiirt petrollpther countries
5) Annual statement of government s exiiected receipts and proposed

expenditures

D) Complete and rewrite the following statements. 5

_ 1) When demand curve touch to "Y" Axis elasticity of demand is............,
a) perfectly elastic. b) perfectlylplastic
c) Relatively elastic
d) Relatively in elastic

2l When more units are demanded at higher price it shows.............
a) Increase in demand
b) Contraction in demand
c) Increase in supply
dlContraction in supply

3) Revenue per unit of output sold is.......
a) Total Revenue
b) Marginal revenue
C)Average revenue
D)Totalcost

4) Unorganised sector of money market in India...........
a)  SBI
B) RBr
C) Commercial bank
D) Indigenous bankers

5) A study of management of household.. . . . . . . . . .
a) History B) Maths
C) Economics D) physics



Q2' Al ldentify and explain the concept from given itlustrations. (Any three). 6

1) viha collected information about monthly expenses of the state government of
Maharashtra
2)There is one cinema theatre in the city
3) Ravi prepared rmport Export Index Numbers in 2o22-23
4) People Demanded various goods and services which has power to satisfy their
needs
5) Fall in the price of sugar by s0% resulted to% rise in the quantity demand

B) Distinguish between the following. (Any three). G

1) Place Utility and Service utility
2) Monopoly and Oligopoly
3) Partial equilibrium and General equilibrium
4) Internal debt And Externaldebt
5) unitary elastic demand. And perfectly inelastic demand

Q3. Answer the following questions (any three)

1. Explain four features of monopolistic competition
2. calculate Quantity Index Number from the given table

U^*MJU w;!:o08.Wti 4toto
7r

4 sg lor

a 8o 3o
c 35 35

Explain any four sources of non G@vernment
Explain the reforms introduced in the capital market
Explain circular flow of National income

Q4. state with reason whether you agree or disagree with the following
statements (any three). lz

l)There are no Assumptions to the taw of supply
2) The scope of micro economics is limited
3)Value index Number is only quantitative type of index number
4)lssue of currency notes is a sole right of RBI
5)Fines and penalties are the major source of revenue for the government

t2

3.
4.
5.



Q5. Study the following table figure passage and answer the question given
below
1)

anv two
'k'Gr'Jr1v -T'U t-1 ,U

I , {o
! t {8
3. 2-+
+.s 2t+ o
5. 2L

1)Find out marginal util ity.
2)At ........ unit of X commodity saturation point is coming
3)When marginal util ity is zero, Total util ity is....

E
h

rt
"tt
\-/

2
1
L

L
7
2

1'e.epfu,
lasram snows. . . . . . . -1)The above diagrain shor&s..-...,relationship between quantity demand and price

2)ln the above diagram demand curve DD has.......... slope.

.L

\

3)Rise in pric.e leads to upward movement of demand on same demand curve
from poinf..H...to point.'.GlThis movement is known as............. Demand. 2

3) Higher interest rates in a country tends to attract foreign investment,
increasing demand for that countq/s cu!'rency and strengthening its exchange
rate. lf inflation is higher in a country compared to its trading partners ifs
currency weakens as its purchasing power decreases.

1)Why in a country foreign investment increases?
2)What are the impacts of inflation?
3)Express your views about above passage.

Q6. Answer in detail (any two).
1)Explain law of demand with its exceptions
2)Explain the features of perfect competit ion.
3) Explain the features of National Income

16
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ENGLISH.SO MARKS.O3 HRS

Il Eoch activity ias to be answered in a fuil sentence/s. One word ariswer will not be given

complete credit. Just the correct octivity number in case of options will not be given credit.

2lWeb diagrams, flow chort, tobles etc. are to be presented as they are with answers.

3ltn point 2 obove, just words without the presentation of the octivity format/design, will not

be given credit. IJse of colour pencils or pens is not allowed.

4l Muttiple answers to the some activity wilt be treoted as wrong and will be given no credit.

5lMointain the sequence/Ques Nos/Activities throughout the octivity sheet.

sEcTroN -l (PRosEf.
(heading for comprehension, Language study, Summary and Mind Mapping) 16

e1. (AlRead the extract and complete the activities given below: L2

Therefore, I plunged into all these branches of knowledge. lt was a period of renaissance for

me. We used to discuss about relativity, Big Bang, aesthetics, literature, philosophy, eco4omics

and many other subjects every day until late into the nights. My cupboard was full of books on

a variety of topics. lt is only because of the human curiosity that we have been able to make

such a great progress in science and technology, and social scienees. I have a number of

l imitations, but one thing I am proud of is the curiosity, humility and humanity, i.e., concern for

our fellow human beings. I ' learnt these values during my llT days. I also became a firm believer'

in rationalism and equality for all the castes, creeds, races, genders and religions. I started

treating Nature as God and humanity as religion. I passed from llT, joined a non-violent social

movement for tribals with Sarvodaya, participated in a peaceful satyagraha, went to jail for 10

days, came back to Mumbai, was jobless for a while, worked for Rs. 125/month to supervise

workers at the night shift in a mechanical workshop, changed 13 houses in Mumbai, and finally

settled on lnformation Technology as my career. I spent 32 yeariin Information plunged intO:

dived into renaissance : a rebirth or revival of learning rationalism : the practice of basing

opinions and actions on reason and knowledge rather than on religious beliefs or emotional

responses Why does the author say passing the examination of life is more important? Why

are curiosity and humanity important?Technology out of which I was a Chief Executive Officer

or MD or the software head for 23 years for large global multinational software companies with

thousands of software professionals worldwide and 6 offices in the US, 3 in Europe, 1 in Japan

and 1 in Australia. I had to travel all over the globe around 150 times for business. During this

period, I had also written 4 books with 500-700 pages each on Information Technology

published by Tata McGraw-Hill and then translated lnto Chinese for global distribution. I learnt



a lot of things when I was running these large companies. The first one was the importance of
team work. ln today's world, nothing is possible without team work. You cannot be successful
if you are a loner,and an egoistic person. Secondly, you need to lead from the front by setting a
good example in Tront of your staff. Third was that you need to treat your subordinates and
your colleagues as friends. In my career, I made a few mistakes, but learnt a lot about
motivation, being a good listener, target setting and the art of delegation which forms such an
important part of today's management.

41. Complete the web:

A2. Author called a particular period as a period of Renaissance, because......

A3. Discuss authors piofessionaljourney as per the extract.

A4. Vocabula M the followin

A5. Do you think that one should value one's reason and knowledge more than one's
religious beliefs or emotional responses? Justify your answer.

46. Language study-
i) | passed from llT, joined a non-violent social movement.
(Rewrite using'No sooner than.. ')
ii) | started treating Nature as God. (Rewrite using past perfect tense)

(B) Non Textual Grammar-:
81. Do as directed/Transformation of sentence
(i) I've never made a pasture.
(Choose the correct alternative to remove the Negative from the sentence)
(a) | have been unable to make a pasture ever.
(b) | could not make a pasture ever.
(c) | had not been able to make a pasture ever.
(d) | did not make a pasture ever.

tch

Author's learning while
running large Companies

r y -  Ma
Column A Column B

A Plunged into A Rebirth of
B Renaissance B Modest
c Humilitv c Everything over the earth
D Humanity D Dived into

E Compassionate



(ii) I walked straight to the village and bought myself two dozen penny exercise books

(Choose the correct Simple Sentence)

(a) walking straight to the village I bought myself two dozen penny exercise books'

(b) When I had walked straight to the uill.g"' I bought myself two dozen penny exercise book

(c) | walked straight to the village and I bought myself two dozen penny exercise books'

(d )WhenIwa lkeds t ra igh t to thev i l |age then lboughtmyse| f twodozenpennyexerc isebook

(iii)The very process of becoming a somebody may subtly reduce you to a nobody'

(choose the correct atternative to begin the sentence with "lt is"""")

(a) lt is the very process of becoming a somebody that may subtly reduce you to a nobody'

(b)The very process of becoming a somebody that may subtly reduce you to a nobody'

ili16" proi.r, of becoming a somebody may subtly reduce you to a nobody.

iojrn. process of becoming somebody may subtly reduce to a nobody.

82. Spot the error and rewrite the correct sentence'

She don't like to eat fruits.

42.(A)Readtheextractandcompletetheact iv i t iesgivenbelow:
12 [18]

Once you learn.to contact and release the hidden power of your subconicious mind' you can

bring into your life more power, more wealth, more health, more happiness' and more joy'

You do not need to acquire this power, you already possess it' But you will have to learn how

to use it. you must understand it so thai you can apply it in all departmdnts of your l i fe' -

rf you follow the simple techniques and processes explained in this book, you can gain the

necessa.ry knowledge and understanding' You can be inspired by a new light' and you can

generate a newforce that enables you to realize your hopes and make allyour dreams come

true. Decide how to make your life grandeur; greater, richer and noble than ever before'

within your subconscious depths lie Infinite wirdot, lnfinite power, an infinite power supply

of ail that is necessary. rt is waiting there For you to give it deveropment and expression. lf you

beg innowtorecogn ize thesepoten t ia lso fyourdeepermind, theywi l l take formin thewor ld
without.
provided you are open-mined and receptive, the Infinite Inteiligence within your subconscious

mindcanrevea l toknowevery th ingyouneedtoknowatevery rnomento f t imeandpo in to f
space. You can receive new thoughts and ideas, bring forth new inventions' make new

discoveries, create new works of art. The Infinite Intelligence in your subconscious can give

you access to wonderfur new kinds of knowredge. Let it revear itserf to you and it will open the

way to perfect expression and true place in your l i fe' 
.. . r,- - :r-^l

Through the wisdom of your subconsiious mind, can attract the ideal companion' as well as

the right business associate or partner. lt can show you how to get allthe money you need

and give you the financial freedom to be, to do and to go as our heart desires'



41. Read the following sentences, choose two of them that explain the theme of the extract:
2

(i) Types of copscious and subconscious mind.
(i)The marvefous'power of subconscious mind. ,
(i i i) Thinking is very important to get our desired goals.
(lV) Recognizing the potentialit ies of the deeper mind can show how to get as your heart
desires.

A2. Complete the given web diagram to show the 'uses of Infinite intell igence', from the given
extract: 2

A3. Complete the given 'flow chart' to express the 'Power of subconscious mind', from the
given extract: 2

vr

Power of
subconscious
mind

44. Mention any four steps/methods in order to develop our personality. Give your own ideas
and thoughts. z

A5. Language study

i)You can gain the necessary knowledge and under-standing.
(Choose the correct alternative from the following options that shows the correct use of 'able

to'in this sentence.)

(alYou should be able to gain the necessary knowledge and understanding.
(b) You are able to gain the necessary knowledge and understanding.
(c)You would be able to gain the necessary knowledge and understanding.
(d) You wil l be able to gain the necessary knowledge and understanding.

4



(i i) New force enables you to realise vour hopes.
(Choose the correct atternative from the given options to frame'Wh question', to get the

' underlined part as the answer).
(a) How do nevV force enable You?
(b) What does new force enable You?
(c) When did new force enable You?
(d) Where does new force enable You?

A6. Find the ,antonyms' of the given words from the extract. 2
(b )du l l

(B) Summary Writing- 3

Write a summary of the above extract with a suitable title with the help of the given points

/hints
*Subconscious mind * Potentialities * Secret of happy life

(Cl. Mind MapPing- 3

Develop a mind map on the topic'students' roles and responsibilities', expressing and

presenting your own ideas, floW design and structure.

sEciloN -il (PoErRYff

Q3. (A)Read the extract and complete the activities given below:

ls anybody happier because you passed his way?
Does anyone remember that you spoke to him today?

This day is almost over, and its toiling time is through;

ls there anyone to utter now a kindly word of you?

Did you give a cheerful greeting to the friend who came along?

or a churlish sort of "Howdy" and then vanish in the throng?

Were you selfish pure and simple as you rushed along the way,

Or is someone mighty grateful for a deed you did today?

Can you say tonight, in parting with the day that's slipping fast,

That you helped a single brother of the many that you passed?

ls a single heart rejoicing over what you did or said;
Does a man whose hopes were fading now with courage look ahead?

Did you waste the day, or lose it, was it wellor sorely spent?

Did you leave a trail of kindness or a scar of discontent?

As you close your eyes in slumber do you think that God would say,

You have earned one more tomorrow by the work you did today.

t4
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Good deed of man

A1. Complete the web showing one good deed of man from each stanza of the poem:

-[]

A2. Guess why the poet ask the readers to earn their yesterday.?

A3. Compose four l ines on the topic any'good deed' Or'good deeds.'

A4. Write the rhyming scheme of stanza 1 and 2 along with the rhyming words.

A5. Write an example of Interrogation Figure of speech from the poem.

(B)Appreciation: Write the poetic appreciation of the extract given below:
My father travels on the late evening train
Standing among silent commuters in the yellow light
Suburbs slide past his unseeing eyes
His shirt and pants are soggy and his black raincoat
Stained with mud and his bag stuffed with books
ls fall ing apart. Hls eyes dimmed by age
fade homeward through the humid monsoon night.
Now I can see him getting off the train
Like a word dropped from a long sentence.
He hurries across the length of the grey platform,
Crosses the railway line, enters the lane,
His chappals are sticky with mud, but he hurries onward.

Home again, I see him drinking weak tea,
Eating a stale chapati, reading a book.
He goes into the toilet to contemplate
Man's estrangement from a man-made world.
Coming out he trembles at the sink,
The cold water running over his brown hands,
A few droplets cling to the greying hairs on his wrists.
His sullen children have often refused to share
Jokes and secrets with him.
He wil l now.go to sleep
Listening to the static on the radio, dreaming
Of his ancestors and grandchildren, thinking
Of nomads entering a subcontinent through a narrow pass.



sEcTloN -lll {wRlTlNG SKILLS)

Q4- Comptete the activities as per the instructions given below:

(A) Attempt Any One of the following activities: 4

1) Draftine virtual messaee . ,, rr rL,
you think of attending a programme on ,saving Rivers' at your college. At the same time you

find it difficult to meet your friend which you have promised.

write a message to your friend convincing about the same.

Draft this message in about 100-L50 words specifying your own benefits to attend the

programme 
oR

(2) Statement of PurPose
You wish to pursue your graduation at a reputed university in any of the streams of your own

choice, either arts, science, commerce or management, medical' engineering or any other

degree you have in your mind. You have fixed your career goals and also have similar

background to achieve your dreams'

write a ,statement of'purpose" as a part of your application process to get admission at a

universitY of Your choice.
OR

(3)GrouP Discussion
;;rm; l isr ,ahaverecent lydiscussedonatopic.Socia|Mediaaffect ingteenager 's
life'. Draft this group discussion in the form of dialogues on this topic'

(Bl Attempt Any One of the following activities: 4

1) E-mailwrit inE:
You have planned a fanfily trip to south India. You need a leavb for eight days' write an

email in a proper format with all i ts supporting details you wish to include to convince and

get your leave approved. (100/150 words)'

OR

(2) Report writine:

lmagine, your college recently observed a "Health and fitness" awareness week' You are

the editor of the notice board column. Write a report in about 100/150 words on the

happenings of the awareness week and allthe observations, adding allthe required

informat ionanddetai |switnessedSndexper ienced.
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(3) | nterview Questions:
lmagine, you have to conduct an interview of a famous personality from the field of

sports. with the help of the given table and points, draft questions on the given fields

associated with the sports personality. (Do not change the sequence of the questions)'

(C) Attempt Any One of the following activities:

(1) Speech:

lmagine you have taken pdrt in an elocution competition. You have selected the topic "Save

planet,,. Draft a speech in about 100/150 words that you wish to deliver before the audience'

OR

(2)Comoerine:

lmagine, you are given an opportunity and responsibil i ty to compere a programme at your

college based on "Developing reading habits". As a compere, draft the required sciipt to

decide on the flow of the. overall programme. You may take help of the given hints:

(welcome, introduction, felicitation, speakers, guests, students' presentation, presidential

address, vote of thanks).

4:

tttrr. of the interviewee (distinguished

personality)

Date/Venue/Time -

Duration of lnterview -

1. lnterest develoPment
2. ldols in l i fe
3. Earlv learni

5. Schedule/ Time table

5. Recent achievements
7. Goals in l i fe

OR



(3) Expansion of ldeas:
f*prnJ the following idea with the help of the points given below: (100-150 words)'

' 
"social Distancing - A need of today"
* Need
* Purpose
* Roles and resPonsibilities
* Awareness
* Acceptance ofthe fact

(D)Attempt Any.One of the following activities:

1)Review:

you have recentry watch a book/magazine.. write a 'Review' on the same with the help of the

following points: (1-00-150 words)
-Title of the book
-Su bj ect/StorY/l nfo rm atio n

' -Language/Style/Features
-Uses/ScoPe/Benefits

OR

(2) Bloe:

Write a ,Blog, in a proper format on "Food habits -way to healthy life" with the help of the

following Points:(100-150 words)
-Good food
-Nutrition
-Do's and Don'ts
-Balanced diet-need

OR

(3)Appeal:

prepare an appeal on the topic, " Noise Pollution-A silent Kil ler", with the help of the

following Points: (100-150 words)
-Causes
-Effects
-Action Plan
-Planning and lmPlementation

+



Match the fol lowing items from Column A with those trom the column B:

Column A Column B

1. Oroonoku Joseph Conard
2. The Heart of Darkness John Bunyan
3. Frankenstein Aphra Behn
4. The Pilgrim's Progress Mary Shelley

sEcTtoN -rv (LITERARY GEN RE-NOVEL)

q5 (A)- Complete the activities as per the instructions given below:

with hosefro th

ii) Choose the correct alternatives and complete the given statements: 2
a) Novels with the elements of horrol blood-shed and mystery are ca11ed............. novels.

(Rea listic, Gothic, Psychologica l)
blThe German word 'bildungsroman' indicates-

(Letter, NeW Growth)
(c) There a re............. essential elements of ' Novel' or'Novella'.
' 

(six, eight, eleven)
(d) Struggle between the opposite forces in the story is ca|led..........

(plot, confl ict, setting)

{B) Answer the following questions given below: 4
Activities based on the extract of the novel 'To Sir, With Love' (answer in about 50 words):
(i) Give the character-sketch of E.R. Braithwaite (the narrator). 2
(ii) Descr:ibe how Miss Philips justifies the importance of P.T. to Denham. 2

(C| Answer the following questions given below: 4

Activities based on the extract of the novel 'Around the World in Eighty DarTs'(Answer in about
50 words):
(i) Elaborate the following quote in the l ight of Phileas Fogg's Venture .....

'Quitters never win and Winners never quit. '
(ii) Phileas Fogg knocked detective fix down -Give reason/s.

(D) Answer the following questions given below: 4

Activities based on the extract of the novel 'The Sign of Four' (Answer in about 50 words):
(i) Describe the significance of Mary.Morstan's visit to the Lyceum Theatre with Holmes and
Dr. Watson
(ii) Write in brief the theme of the extract of the novel 'The Sign of Four'

* : r : r r r * : r *  *  r l . , r  t * r f  *  rF  *  * * r f  *  *  r f  r r  *  * * *  * * * * * * * * :F*  * *  * *  * *  *  * *  *  *  * * : t * :F** *
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M LD . J syr L) o+ 6lzll too-44Dlfd ec
QtA. Choisissez la bonne r6pbnse et r6crivez la phrase :

(6 au choix)

1.  Le_est  la  repas du so i r .

a. d6jeuner b. petit-d6jeuner c. diner

z._est  un journal  de spor t .

a. France-lnfo b. L'Equip6 c. France2

3. Les Jeux de la Francophonie sont des

a. 6preuves sportives b. 6preuves sportives et concours culturels c. concours culturel

4. Quand on est 6tudiant, la s6curit6 sociale peut-

a. aider i payer le loyer b. payer le retraite c. payer un repas dans un restaurant.

5. La quiche lorraine est le nom

a. d'un plat frangais b. d'un vin frangais c. d'un fromage frangais

- 6. _ est une r6sidence royale pr6s de Paris.

a. Le chdteau de Chambord. b. Le ch6teau de Versail les c. Le chdteau dAmboise

7.  Quand i ly  a  la  canicu le, -

a. 1l fait  trEs chaud b. i l  fait  trds froid c. i l  neige.

8. _est un pays francophone en Europe.

a. L'ltalie b. La Suisse c. Le Qu6bec

Q2 B. R6pondez aux question suivantes par des phrases complEtes: (5 au

choix)

1. Que fait un avocat?

2. Donnez deux activit6s que vous faites pendant les vacances.

3. Queltemps fait- i l  en hiver en France? (2 phrases)

4. Qu'est-ce qu'on prend pour terminer le repas franqais?

5. Qu'est-ce qu'un repas equil ibr6?

6. Comment 6tait l'environnement autrefois?

7.  En quoiest  le  chemis ier?

8. Oi va-t-on pour acheter les m6dicaments?

l lPage
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Q2 Grammaire: e4l

A. Compl6tez les phrases suivantes avec les mots donn6s

(beaucoup, cet, bonnes, belle, i, moderne, bel, grand)

Sais-tu -$) nouvelles? J'aitrouv6 un -(2) appartement ' (3) Delhi' l l  a un

_(4) salon et  une -(5)chambre. l l  est  dans un immeuble (6) '  l l  y  a un

jardin avec - (7) d'arbres. Quand viens-tu voir -(8) appartement?

B. Remplacez les mots soulign6s par des pronoms personnels qui conviennent'

(4)

(4)(4 au choix)

l-.  J'ai pass6 du Pain i  mon oncle.

2.  l l  a  lu  les iournaux.

3. El le va changer de train d Diion.

4. Martin et moi nous asseyons sur ces chaises'

5. Montrez-moi des images.

6. Ne faut-i l  ptt donn"r les bi l lets au conducteur?

C. Compl6tez avec des pronoms relatifs: (4 au choix)

l-. C'est Marie mange les gdteaux

la tr:adition et le modernisme co-existent'2. Paris est une vil le

3. Je fermier a un chien - j 'ai Peun

4. Connaissez-vous cet homme - les patents sont r iches'

5. f6tudiant travaille dur, r6ussira

6. Pr6te-lui le journal tu as achet6.

C. Mettez les verbes au temps indiqu6: (4 au choix) (4)

1. Dans deux mois, on (al ler - futur Simple) au Canada'

2. Je (vouloir - condit ionnel) bien acheter une voiture, mais je n'ai pas d'argent'

3. Le matin, le temps (€tre-imparfait) agr6able'

4. Pour l 'anniversaire, el le (recevoir- pass6 compos6) un beau cadeau de son oncle'

5. Attention! Les chaises (tomber-futur proche)

6. Les 6tudiants (accueil l i r  - pr6sent) les voyageurs'

(4)
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D. Faites comme indiqu6 (8au choix) (8)

1. Voici un nouvel 6tudiant est gentil (Mettez au pluriel)

2. Le fils du directeur est gentil. (Mettez au f6minin)

3. Je veux du th6 (Mettez au negatif)

4. El le habite i  Lyon -deux ans. (Compl6tez avec la bonne pr6posit ion

dans/depuis)

5. Ma cousine s'habil le toujours _ (6l6gant) (Compl6tez avec l 'adverbe qui

correspond i l'adjectif entre parenthdses)

6. Ma mdre est malade, el le ne va - aujourd'hui (Compl6tez avec rien/nulle
part/personne)

7 . _activit6s sportives pratiq uez-vous? (Co m pl6tez avec : q ue I les/o ir/q u i)

8. Veux-tu manger salade? (Compl6tez avec: du/de la/ des)

9. Voici M. et Mme Lemaitre, _ f i l le habite en Belgique. (Compl6tez avec

son/leur/ leurs) ,

10. chdteau est royal. (Cet/Ce/Cette)

11. Quelle est la capitale _pays? (du/des)

12. Les filles (intelligent) les gargons (Ecrivez les phrases au comparatif)

Q3. Vocabulaire :

A. Compl6tez les phrase avec un mot ou une expression juste: (2 au

choix) (2)

1. l l  faut 6viter le '  de l 'eau.

2. Je suis _ je me r6veil le t6t le matin.

3. La Galerie des Glace se trouve au Chdteau de

4. En France, on met verres devant chaque assiette.

B. Que dites-vous dans les situation suivantes (2 au

choix) (2)

1. Vous voyez un film avec votre colldgue et vous n'aimez pas ce film. Vous dites: -

2. Quelqu'un vous offre du vin et vous refusez poliment:

3. Vous aimez tout dans la vie. Vous dites

4. Votre ami a des probldmes de sant6; vous lui dites

3 lPage



C. Reliez les deux colonnes: 
'

(2)

1. Le pays voisin de la France

2. Le refas. du soir

3. La sp6cialit6 de Dijon

4. Le restaurant de luxe

D. Faites comme indiqu6
(2 au choix) (2)

1. sommes, sont,6tre, es (Chassez l ' intrus)

2. jouaient / journ6e/toute/les/la/enfants. (Reconstruisez la phrase)

3. C,est un mus6e ancien . (Donnez le contraire du mot soulign6)

a. le Jules Verne

b. la moutarde

c. la Suisse

d. le diner

Q4. Lisez le texte et r6pondez aux questions suivantes:

Le frangais est la deuxiEme langue la plus parl6e dans le monde, aprbs l 'anglais' C'est

parce qu' i l  y av6it beaucoup de colonies frangaises partout dans le

monde. Aujourd'hui, le frangais est une des langues off iciel les des Nations Unies et

de l,Union Europ6enne. La France part icipe activement ir la poli t ique de l 'union

Europrienne.

Le frangais est pa116, en Am6rique Latine, au Canada, dans de nombreux pays

africains, dans quelques pays de lAsie et bien s0r en Europe.

A. Questions:

1. Quelle est la deuxibme langue la plus parl6e dans le monde?

2. euelle est la responsabil i td du Centre Culturel de lAmbaisade de France?

3. Pourquoi parle-t-on le franqais partout dans le monde?

B. Dites vraiou faux:

L. On parle le frangais au Canada.

2. La France ne part icipe pas ir la poli t ique de l 'union Europ6enne.

C. Donnez le contraire de:

1. avant 2. BeaucouP de

D. Relevez dans le texte un exemple d'un adverbe'

E. Compl6tez avec les mots donn6s dans le texte:

4 l P a g e
i
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1. _6tait une colonie dans le sud de l ' inde au Tamil Nadu.

2. Nous avons des -de frangais a 11h.

Q5. Ecrivez un blog d'environ 80 mots sur le sujet

suivant: - (8)

lra Deshmukh, une lndienne, a pass6 deux semaines en France avec son amie Nidhi.

El le 6crit  un blog sur le sujet suivant:

<Les repas en France>

(les repas du jour, les plats diff6rents, les spdcial i t6s, l 'ordre du repas...etc)

OU

Ecrivez un courriel sur le sujet suivant:

Nidhi Desai (ndesai@gmail.com) a pass6 un week-end int6ressant avec ses amis. l ls

ont tous visit6 la vi l le de Paris. Nidhi envoie un courriel i  sa mdre

(nandita@gmail.com) pour parler des activit6s de ce week-end.

(sortir avec des. amis, visiter des endroits touristiques, voyager en m6tro/RER/bus,

manger au restaurant, go0ter des plats, frangais, acheter des souvenirs... .)

Q6. A. Traduisez en anglais: (6)

Quel plaisir de revoir mon cher Canada! Vous me manquez tous. Hier, c'6tait

dimanche et nous sommes tous al l6s i  une cabane ) sucre i  quelques ki lomdtres de

Montr6al. C'6tait une vraie cabane i sucre en bois, dans une for€t 'd'6rables. La fof€t,

sous la neige, 6tait magnif ique. Le patron 6tait sympathique, un grand sourire sur

son visage. D'abord nous avons go0t6 <une t ire d'6rable> -(on met du sirop chaud

d'6rable sur la neige et on le mange quand i l  devient dur.

Q6 B. Traduisez en frangais (3 au choix) (6)

l-. Look at the website olour institute.

2. Have you f inished al l the work?

3. Sorry, but I don't have a pen.

4. We return home in the evening

5. My aunt was working in the garden.

6. She was born in Canada, but she l ived in France.

* *  * *  * * *  * * *  * *  *  * *
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PTVA's Dahanukar College of Commerce
. PreliminaryExamination

Subject: German Marks:80
Date: Duration: 3 hours

1) Beantworte 5 der folgenden Fragen in mindestens zweiSHtze. {10}
a. '  Wo kann man Geld wechseln? Wo kann man Br iefmarken kaufen?
b. Was trdgst du gern zu Hause? Und was trigst du auf einer Party?
c. \A/elche Jahreszeit gefi i l l t  dir am besten? Warum?
d. Schreibe zwei Sitze uber eine ,,Smart City" .
e. Was ftir eine Reise wil lst du in den Sommerferien machen? Mit wem

reist du am liebsten?
f. Meine Schwesiei'hoi't gei'n i i iusik. \rVas kann ich ihi 'schenken?
g. Wie viele Sprachen sprichst du? Wie heiBt deine Muttersprache?

2i ties die folgenden Texte und bearbeite die Aufgaben.
a. Text 1

Gesundeit ist das wichtigste Gut!

Gesundheit ist wichtig. Jeden Tag sollen wir gut essen und viel Wasser
tr inken. Obst und Gemtlse s ind gesund und geben uns Vi tamine. Fast
Food ist ungesund und man soll weing Fast Food essen. Heutzutage essen
Jugencil iche viel Fast food wie l lamburger, Chips und Pizza. Das schadet
cier Gesundhei t .
Auch Sport ist gut ft lr den K6rper. Wir konnen schwimmen, laufen oder
Fahrrad fahren. Das macht SpaB und hdlt f it. Es ist wichtig, genug zu
schlafen. Kinder sollen etwa neun bis zehn Stunden schlafen. Schlaf hilft
uns, Energie zu haben. Wenn wir krank sind, gehen wir zum Arzt. Ein Arzt
untersucht den Pat ienten und verschreibt  Medikamente.  In der
Apotheke kann man Medikamente kaufen. Hiinde waschen ist wichtig,
besonders vor dem Essen. So bleiben wir  gesund. Husten und Niesen in
den Ellbo$en ist hofl ich und schritzt andere Ledte.
Gute Gesundheit bedeutet ein gutes Leben. Wir frihlen uns glricklich und
stark.  Pf lege deine Gesundheit ,  nur dann kannst du jeden Tag genieBen!

i. Beantworte die Fragen.
1. Warum soll man genug schlafen?
2. Wo kann man Medikamente kaufen?

ii. Schreibe richtig oder falsch, wenn falsch korrigiere die falschen
Aussagen! {03}

1. Der Auior sagt, dass Sport niciri wichtig ist.
2.  Obst und Gemrise geben uns Vi tamine.
3. Sport ist gut frlr den Korper.
4. Man muss die Hinde nicht waschen, wenn man [sst.

iii. Wie steht es im Text? (03)
1. Ein Arzt gibt Medikamente.
2. Nichts ist wichtiger.als Gesundheit.
3.  Man sol l  auf  e igene Gesundheit  gut  aufpassen.

tx6i
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b. Text 2 to8)
L*ld,!gF,S q und stedtl ele'l

Viele Menschen fragen sich,  ob das Leben auf dem Land oder in der

. Stadt besser ist. ln der Stacit gibt es viele Jobangebote. Menschen
kOnnen viele verschiedene Berufe finden, zum Beispiel Modedesigner,

Grafiker usw. Solche Berufe gibt es in einem Dorf nicht. Aber das Leben

in der Stadt ist oft sehr hektisch und es gibt viel Liirm. Man hat oft keine

Privaisphiire, weiiso vieie Leuie um einen herum sinci.
Auf dem Land ist es normalerweise ruhiger. Es gibt weniger Liirm und

man kann oft die frische Luft genie8en. Die Landschaft ist schon und

man kann'yiele Tiere sehen. $,reil hier es,.venige Fahrzuege gibt, ist die

Luft nicht verschmutzt. Aber es gibt weniger Kulturangebot. Manchmal

ist es schwer, einen guten iob zu finden, weil dort nicht so viele

Jobange bote existieren.
Fur manche Menschen ist das Leben in der Stadt aufregend und sie

mogen das Kulturangebot, aber fi ir andere ist die frische Luft und die

ruhigere Umgebung auf dem Land besser. Es hdngt davon ab, was ft ir

ein4-eben man mochte.

i. Beantworte die Fragen. (02)

1. Was sind die Vorteile von dem Stadtleben?
2. Was sind die Nachtei le von dem Landleben?

ii. Schreibe richtig oder falsch, wenn falsch korrigiere die falschen
Aussagen. to3i

1. Es gibt ein gi 'oBes Kuliurangebot in der Stadt.
2. Die Luft auf dem land ist nicht frisch.
3.  Al le mogen das Landleben.

.4. !n cler Staeit gibt es viel Larm.
ii i . Suche aus dem Text. (031

L. Ein anderes Wort frlr: Verkehrsmittel und
Arbeitsmogiichkeiten

2. Gegenteile fur: viel und einfach
3. zwei Berufe:

3) Wortschatz: {12}
a. Wie heiBt der Obeibegriff? l%X4 = 021

i .  Malen, Zeichnen, Singen
A. Hobbys B. Freizeitaktivitiiten

ii. Afrika, EuroPa, Asien
A. Ldnder B. Kontinente

ii i . Polen, ltalien, Deutschland
A.. Stddte B. Linder'

iv. Meer, See, Wald, lnsel
A. Farben B. Natur



b. Was passt nicht?
i. Universitdt - Institut - Park - Schule
ii. Montag - Feiertag - Mittwoch - Samstag

' i i i . Meirz - Herbst - Mai - Oktober
iv. Hanci, Bein, Kopf, Topf

c. Ordne zu !
i. Eine Reise durch die Welt
i i .  Eine Reise nach dei 'Hochzei t
i i i .  Eine Reise in einer Gruppe
iv. Eine Reise frlr die Firma

(%X 4 = 02)

l%X 4 = AZ't
a)Gruppenreise
t - l  / ? ^ . - L : i f + ? t ^ i r ^
L J '  \ J C ) L r  r A r  L J r  s r J s

c) Hochzeitsreise
d) Weltreise

(%X 4 = 02),.1

e.

.tVelches Wort passt?
i. Woher?: kommen
ii. Bett: Schlafzimmer
i i i .  Sommer:  heiss
iv. Montag: Wochentag

Nenne zwei?
i. Nationalefeste:'

Wo?:
Mikrowelle:
Winter:
Dezember:

und
(%x 4 = O2l

i i .  tf/ohnr6ume: _ und _
f. Erg5nze den Text mit passenden Wtirtern aus dem Kasten.

{Bauch, erkHltet, Eis, kalte, Hals) l%x 4 = 02)
Kai' in: l\,4ama, mein_ tut r,veh. lch kann nicht richtig essen.
Mama: Hast du Cola getrunken? Oder hast du _ gegessen?

. Kar in:  Nein,  Mama. lch glaube ich habe mich .

4l Schreibe eine E-Mailoder einen Blog. Schreibe mindestens zwei 55tze zu
jedem Anhaltspunkte : (08)
Schreibe deinem deutschen Freund/ deiner deutsehen Freundin eine E-Mail
iiber deine Hobbys.

o Welche Hobbys?
r Wie lange hast du die Hobbys?
o Wann hast du Zeit f i lr die Hobbys?
o Machst du das allein oder mit jemand? (Nur 8 Sdtze.)
ODER

Letzte Woehe hast in Goa Uriaub gemaeht. Sehreibe einen Biog darliber.
c Wie und mit wem bist du gefahren?
o Wo hast du ribernachtet? Wie lange bist du in Goa geblieben?
+ \S",as hast du gesehen und gegessen?
o Hast du Geschenke gekauft?

5|  Grammatik:
a. Welches Verb passt ? {Perfekt} tnur 3}

i. Gestern Max und seine Freundin ins Kino
A. haben gegehen B. sind gegangen

(261
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i i .  Sie - den Film ,,Vdar Games"

A. haben gesehen B. sind gesehen

ii i. Aber seiner Freundin - er t lberhaupt nicht
" A. hat gefallen B. ist gefillt

'  
iv. Nach ciem Fiim sie einen Kaffee

A. hat getrinken B. haben getrunken

b. Erg5nze die richtigen Personalpronomen. {nur 3} {03}
i. Spi'echen - oft Spanisch zu Hause? - Jd, - bin Spaniei'.

A. Sie, ich B' sie, er
i i. Hilfst mir, Patrik? -Ja, ich helfe

A. er, dich B. du, dir
i i i . Er hat ein Fahrrad geschenkt. lch danke - daftir:

A.  mir ,  ihm B. mich, ihn
iv. Vv'ie geht €s -, Martin? geht mir gut. Danke.

A. dir ,  Es B. lhnen, Sie
c. ErgHnze die richtigen Prdpositionen und Artikel. (nur 3) (03)

i. Wir mtissen immer Fii l ler schreiben.

. A. mit, dem B. aus, cien
ii. Wart ihr gestern Stadtzentrum?

A. lns B. im
ii i. !ch brauche eine lJ!ine - Kugelschreibei'.

A. mit, der B. f i ir, den
. iv. Sonntags frt ihsttlcke ich immer Familie zusammen.

A. mit, der B. von, dem
d. Ergiinze die Adjektivendungen. (nur 3l (03)

i. Das iung- Midchen hat ein htibsch- Kleid an.
A. es, e B. e, es

ii. Mit dem neu- Laptop kann mein klein ' Sohn viel machen.

A. er,  en B. en, er
i i i . Den ganz- Tag mache ich die langweilig- Hausaufgaben.

A. en, en B. er, e
iv. Der neu Garten ist sehr schon-.

A .  € , -  B .en ,e
e. Bilde Fragen. {nur 3l {03}

i ,  Abends mache ich immer einen Spaziergang.
ii. Der Lehrer spricht uber yvichtige Themen frlr den Test.
i i i . lm Sommerfahren Herr und Frau Meier nach Spanien.

iv. Sie kommt freute nicht, weil sie Fieber hat.
f. Bilde sinnvolte Siitze. (nur 3) (031

i .  neue -  gemalt  -  Bi lder -  du -  haben?
ii. Eis - essen - die - mochten - Kinder.
i i i .  zusammen -  Freunden -  ins Kino -  mit  -  er  -  gehen -  wol len .
iv. lch - nicht - kdnnen - kommen - heute - weil- mtissen - ich *

bis spdt - arbeiten .



* , i :

g. frginze die Possessivartike!! (nur 3l {03}
i. Kinder, habt ihr Bril le gesehen? lch finde sie nicht.

A. euer B. meine
' i i . lm Sommer mache ich mit Freundin eine Abenteuerreise .

A.  meinen B. meiner
ii i . Eltern haben mich in Berlin besucht.

A. Meinen B. Meine
iv. Pati ' icia, kannst du mii '  Adresse geben?

A. lhre B. deine
h. Ergdnze. (Komparation) (nur 3) (03)

i. Fatima ist fast so _ _ Bea.
A. groB wie B. groBer als

ii. Der Eifelturm ist _ der Kirchturm
A. hoch wie B. hoher als

i i i .A | leSch t i |e r ind ieserK lasses ind in te | l i gen taberN iko is t
A. intell igenter als B. am intell igentesten

iv. Tony lebt in cier Stadt auf dem Land.
. A. i ieber, als B. gerner, dann

i. Ergdnze Prdteritum. (nur 2) (021
i. Gestern _ ich keine Zeit und ins Kino nicht gehen.

A  l z n n n f a  L r r + + a  I l  L r a + + a  l z a n n l n
n .  N v l t I t L E ,  l t c r L L g  u .  t t o L L E ,  A v r t r r L E

i i .  Maria ft ir den Test lernen und nicht fernsehen.
. A. musstet, durftet B. musste, durfte

ii i . Er _ sehr mride und _ nicht mehr'arbeiten.
iv. konnte, war B. war, konnte.

6) \,Vie sggt man das auf Deutsch? {nur 4} (08}
a. We visited many places of tourist interest in Vienna.
b. He studied French in Paris.
c. Mrs. Braun, please write your mobile number here. ,

ci. He could not come because he had fever.
e. We wil l not go to the out if i t rains.
f. Excuse me, where is the library?
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,8,

a. Wrestl ing
b. Football
c. Yoga

MARKS:25

TIME: 1.0 HRS.

(Marks:03)
q. 1. A) Fil.r tN THE B[ANKS.

must be done to increase concentration and mental health.
(Yoga, Swimming).

2. _ is the component of skil l  related physical f itness.

(Agility, Flexibility).

3.-.-- blood is transported from heart to the lungs.

(Oxygenated, Deoxygenated).

B) Match the followings. (Marks:03)

t. cardiovascrl, 
"norrance.2. Flexibil i ty

3. Muscular strength

C) True OR False.

t .

i

{Marks:03)
1. Prolonged training can increase the depth of respiration.

2. While resting, the body needs additional energy.

3. Judo increases strength of muscle and bone.

Q 2. Write short notes. (Any TWO|

L. Explain the 'Exercise Session,.
2. Write an lmportance of Warming up exercises.
3. What is Frequency of Training?

Q.3. Write any'TWO,

(Marks:06)

(Marks:10)

1. Write the lmportance of physical Fitness.

2. what are the effects of an exercise ana training on various body systems?

3. Write in details principals of Fitness.
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MLD c lsyr Ll trJ+oi zslroo- +00JrT l3o
Q.1. Fi l l  in the blanks:- 10M

1. The - attribute of <input> tag is used to apply CSS Style to the individual input element.
2. The aftribute Specifies an image to be shown while the video is downloading.
3. <Meta> tagis essential to boost _ SEO.
4. Search engine can't index Content directly.
5. _is any element on a web page that user interact with.
6. ads are visible, flexible and effective for organizations
7. The - Software Offers Comprehensive business management Solution.
8. In model business sells its products to an intermediate buyer.
9. _is any is real world object about which data is to be stored
10._ is a computer program application that analysis business data.

Q.2. True or False:- 10

1. Name attribute specifies name of an <iframe>.
2. Digital marketing is popular due to decrease in internet users.
3. ln your paid search you only pay when your ads is visible.
4. Backlinks are links that are directed towards your website.
5. The Government has proposed a 4 tier tax structure for all goods and services.
6. Digital signature is also known as public key is certificate
7. Primary key consisting t of more than one attribute is called Candidate key.- 
8. Universal S6lector selects single element on a web page.
9. Query displays subset of data contained in various tables of database.
10. Product life cycle is used for determining the life span of a product.

Q.3. Multiple choice questions (one answer):-

1. The _ element enables to embed or add audio files on the webpages.
a. <audio> b. <video> c. <style> d. <img>

2. To analyse traffic coming to website tool is used.
a. SEOptimer b. Google Analytics e. Go Daddy d. Amazon

is a software system that is designed to carry out web search.
a. Paid search b. content search c. web search engine d. Email marketing

is an example of traditional marketing
a. social media b. websites c. Youtube Videos d. Business cards

5. is the process of adding web pages into Google search.
a. Links b. lndexing c. Google bot d. Header

6. Business entities conducting business electronically are called
a. Global Partner b. local partner c. visiting partner

d. trading partner
7. is used to collect the information from user

a. Form b. query c. table d. report
8. DSS stands for_

a- Decision Support Session
b. Decision System Support
c. Decision Support System
d. Decision System Software

9' -module helps for generating purchasing order evaluating the supplir and billing.
a. Manufacturing b. sales and distribution c. purchasing
d. Financial

10. module is the core of many ERp software packages.' 
a. Marketing b. Production c. purchasing d. Financial

1 0 M
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Q.4. Multipte choice questions(select two answer):- 20M

1. Text-decoration property is used to add-.
a. Line-through b. Underline c. Strike{hrough d. Justify

2. Different types of vouchers such as and - are used for recording
transaction. -
a. Balance sheet b. Trail balance c. Payment d. Receipt

3. Valid legers accounts come under direct expenses group are - and -.
a. Wages b. Freight c. Salary d. Postage

4. Types of input master are - and -..
a. Trial Balance b. Ledger c. Groups d. Day book

5. Every voucher maintain its - and - record.
a. Debit b. Sale c. Receipt d. Credit

6. Encryption is of two types_ and -.
a. Plain text b. Cipher text c. Symmetric d. Asymmetric

7 .The in fo rma t i ons to redunde reachco |umn fo rmarowwh ich i sca l | edas -o r
a. Record b. Tuple c. F d. Column

8. In Libre Base table can be created using - and -.
a. Standard View b. ToolView c. Design View d. Wizard View

9. _ datatype is used to store date and datatype is used to store time.
a. Date b. Varchar c. Char d. Time

10. Popular ERP packages are:

. a. MS Word b. Tally c. MS Excel d. Oracle

Q.5. Multiple choice questions(select three answer):- 06M

1. Following are some of the ways to optimize the webpage for SEO.
a. links b. white hat c. black hat
d. html header e. bodY content

2. following are the attributes of <iframe> tag.
a. src b. srcdoc c. name
d. width e. href

Q.6. Match the following:-

Column A Column B

1. off page SEO a. inventory voucher, invoice
voucher, accounting voucher

2. odoo b. brand mention
3. processing entries c. sells product to an intermediate

buver
4. B2B d. ERP Packaqe

Q.7. Answer the following (any 5):-

1. Explain different modules of ERP.
2. Write the benefits of ERP.
3. Explain steps of voucher entry.
4. Short note on- HSN and SAC.
5. Explain types of GST.
6. Explain Type of E-Commerce
7. Explain advantages of E-Commerce.
8. Write a note on Digital Signature

04M
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05MQ.8.A. Write a program using HTML

Write a HTML program to accept Name of the employee(cannot be blank), email id of the employee,
salary(maximum 40000).
The data should be sent to server.

OR
Q.8.A. Write a program using HTML with the following CSS Specifications: 05M

This is lcrga Heading witlr fEn? nncernis silfis f,as"

De*cripti*n : \lrrit* gr1'd€isriptistt 1'*u ntlx &*:e

Q.8.8. Write a program using HTML 05M

Write an HTML code to create a form to accep Doctor's name, number of patients(maximum 20), date of
examining the patients. .
The data should be sent to server.

OR

Q.8.8. Write a program using HTML for the following output:- 0sM
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Time :3 Hours
Total Marks - 80

General Instiuctions:
1)Al l  quest ions are compulsory.
2)There are 6 questions divided into two sections.
3) Write answers of Section I and Section l l in the same answer book.
4) Use of logarithmic tables is allowed. Use of calculator is not allowed.
5) For LPP graph paper is not necessary. Only rough sketch of graph is expected.
6) Start answer to each question on a new page.

Section l
q.1A) Select and write the most appropriate answer from the given

alternatives for each sub-question.
r? ?'l

i) lf A=L- il 
is a singular matrix, then a = .........

[6 M]

[3 M]

a)  6 b)-s  c )3  d)4

i i) f ?- dx = .........

a) 
"dl#l* 

c b) i^nl7A* c c) |,on [hJ. 'd); bsffi+ c
i i i) A function f is said to be increasing at a point C if .......

a) / ' (c) -s  b) / ' (c)>0 c) / ' (c)<0 d l f ' (c) -L
iv) The solution of the differential equation H= ,rt......

a )y+x=c  b )xY=c  c )x2+Y2-c  d )Y=x+c
v) The area of the region bounded by the curve ! : xz ,x = O, x : 3 and

x-axis is ........

a)  9 sq.uni ts b)f  sq.uni ts c) f ,  sq.uni ts d) 18 sq.uni ts

v) n f f  Sx4 d.x . :32 ,aeR,then a = . . . . . . . .

a )z  b l1  c ) :  d )10

BlState whether the following statements are true or false. [3 Ml

il tt f '(x) ) 0 for all xe(a,b),then f(x) is decreasing function in the interval (a,b).

i i l  Ie '  l * '+Zx)dx= x2 .e '+  c

ii i lThe degree of differential equation rY) - 
#+ 12 is not defined.

Cl Fill in the following blanks.
i) The dual statement of the statement (p V q ) z1 (r V s) is

i i lJ# dx--t tf i6a*
i i i)The integrating factor otff+ ! : e-' is

q 2. Al Attempt any two of the following questions [6 M]

i) Using truth table ,examine whether the following statement pattern is
tautology,contradiction or contingency.

Pv [ -  (Pnq) ]
ii) Differentiate e4x+s w.r.t. e3* .
i i i) Find the area of the region bounded by the curve y - xz + 7 ,

S La|ts{z'<s



l ines x= 0 , x=3 and x-axis'

B) Attempt any two of the following questions'

i) expresi the truth of the following statements using Venn diagram'

L) Allteachers are scholars and scholars are teachers'

2) lf a quadrilateral is a rhombus, then it is a parallelogram.

li)tix7.ys = (x + y)tu, then show thatff-l
t

i i i)Evaluate Iff ia*
Q 3.A) Attempt any two of the following questions' [5 Ml

i) Find x,Y,z if
(  [0 '11  12  1 l ) , ' ,  t x *1 l

{s 11 ,l- l; :^[ H = ly- rl
t - t i  1l  [ r  3J)Lrr I 'Ez! . ,  -

i i) l f the OerianO tunction is D : 150 - Pz - 3P,find marginal revenue,

average revenue and elasticity of demand for price P = 3

[8 MI

iii) Solve the following differential equation. 
xzy dx- (x3 *y3)dy - g

BlAttempt any one of the following questions'

i)Solve the following equations by reduction method

x+2y+ z = 0
2x+3Y-z= LL
3x-Y-22= 5

[4 M]

a -

t9 ",[O4 '
i i )  Eva lua te i  l z f f i ex

C}At temptanyoneo f the fo | |ow ingques t ions . (Ac t i v i t y } [4M]
i) A metal wire of 36 cm long is bent to form a rectangle 'Find its ditnensions when its

area is maximum by completing the following activity'

Solution : ., r-***l
L.tl ttd y"be the length and breadth of the rectangle 'then x+y = 

L---J
then area of the rectaPgle = \Bx - x2

Let, f(x) be the area of the rectangle '

f (x)= 1gt -  *

f'(x) -
f" (x) :- 2

Forextreme value, f' (x) = o 
"' 

x = f-l

Now, f'(x) < 0

...f(x) t Areal is maximum when dimensions {length and breadth are } f-:l

i i) In a certain culture of bacteria"the rate of increasing is proportional to the number

present . lf i t is found that the number doubles in 4 hours ,f ind the number of t imes the

bacteria are increased in 12 hours'

Solution :

Let, N be the number of bacteria present at time 't' '

since, the rate of increase of N is proportionalto N ,the differential equation can be

written as



3{  xN
dt

:.# = k. N,where k is constant of proportionality.

. ' .# = k.dt ' .  J* dN = tc !  t  at

logN=[--*- l+C (1)

when t = 0, N = No is init ial number of bacteria

. ' . l ogNs=kx0+C

.'. C = log No ---- (2)

A lso ,whent=4 ,  N  =ZNo

log( 2N6 ) = 4k * f::: from (1)

los (#) = 4k .'. log 2 = 4k

Now,N=?,whent=12

From (1)and (2 ) ,

log N = Lnbgz . (l2l +log Ns

logN- logNs =3 log2

.. ros (+J = f::::::
N=8No

q.4 A)

i )

. ' . Bacteria are increased 8 times in 12 hours.

sEcTloN ll
Select and write the correct answer of the following multiple choice
type questions. [6M]
An agent who gives guarantee to his principal that the party wil l pay the
sale price of goods is called
A) Auctioneer B) Delcredere agent C) Factor D) Broker

ii) X is a number obtained on upper most face when a fair die is thrown then
E(x) =
A) 3 B)3.s D)4.s

i i i) The cost of Living lndex Number using Weighted Relative Method is given

ot# Bt# c) x# D)x#
iv) The Assignment Problem is solved by

by

A) Simple method
C) Vector method

c)4

B) Hungarian rnethod
D)Graphical method

Trade discount calculated on -.
A) List price B) Cost price C)Sell ing price D) lnvoice price



vi) tf x - B lzo,*)ihen E(x) =

A)2 B)s  c)4  D)3
q.4 B) State whether following statements are true or false. [3M]

i) The purpose of dummy row or column in an assignment problem is to

obtain balance between total number of activit ies and total number of

resources.
i i) Graphical solution set of x S 0, y > 0, in xy system lies in second quadrant.

i i i) b* is corelation coefficient between X and Y.

Q.4 C) Fil l  in the blanks. [3 MI

i) ln Binomial distribution, if n is very large and probabil ity of success p is

very small such that f lP=m (constant) then distribution is

app l i ed .
i i)  The optimal value of the objective function is attained at the

points of feasible region.
i i i) l f p.d.f. of a continuous random variable X is defined as follows.

1
f ( x )  = :x ,L (xS3

= Q otherwise then E{X) =
- 

Q.5 Al Attempt any TWO of the following questions. [6 M]

i) Find price index number by simple aggregate method by taking 1995 as

base year.
Commodity A B c D

Price in t in 1995 95 60 80 35

Price in t in 2003 LL6 74 92 42

ii) Four new machines Mr, Mz, Mr and M+ ?I€ to be installed in a machine

shop. There are five vacant places A, B, C, D and E available. Because of

l imited space, machine Mz cahrot be placed at C and machine M: c?flf lot

be placed at A. below

Find the optimal assignment schedule.
iii) The foltowing table shows the production of gasoline in USA for the years

1962to 1976. Obtain trend values using 5 - yearly movillg averaggs.

Year L962 1963 L964 1965 1966 t967 1968 1969

Production
(Mi l l ion
Barrels)

0 0 1 7 2 3 4 5

Year 1970 L97t t972 t973 L974 t975 L976

Production
(Mi l l ion
Barrels)

6 7 8 9 8 9 10

The cost rnatrix is

Machine
Places

A B c D E
Mr 4 6 10 5 6

Mz -, 4 5 4
Mg 6 9 6 2

Mq 9 3 7 2 3



q.5 Bl Attempt any TWO of the following questions. [8M I
i) ln a large school, 80% of the students l ike mathematics. A visitor asks each

of 4 students selected at random, whether they l ike mathematics.
'a) 

Calculate the probabil it ies of obtaining an answer yes from all of the
selected students.

b) Find the probabil ity that the visitor obtains the answer yes from at
least 3 students.

i i) The company makes concrete bricks made up of cement and sand.
The Weight of a concrete brick has to be at least 5 Kg. Cement costs { 20 per Kg and
sand costs { 6per Kg. Strength consideration dictate that a concrete brick should
contain minimum 4 Kg of cement and not more than 2 Kg of sand. Formulate the LPP for
the cost to be minimum.

iii) A stock worth < 700000 was insured for t 450000. Fire burnt stock worth
t 300000 completely and damaged remaining stock to the extent of 75% of its
value. What amount can be claimed under the policy 2

Q 5 Al Attempt any TWO of the following questions. [6 M]

i) Bring out inconsistency if any, in the following.
a) bYx = bxY = 1.50 and r =-0.9

b) byx = 1.9 and bxy = - 9.25

c)  byx=2 .6and :  = :
bxy 2.6

ii) Given that, )p6q o = 220 , Epoqt = 380 , Zpflt = 350 and Marshall-
Edgeworth's Price lndex Number is L50. Find Laspeyre's Price lndex Number.

iii) Defects on plywood sheet occur at random with the average.of one defect per
50 sq feet. Find the probabil ity that such a sheet has

i) No defect i i lAt least one defect. [Use e-L = 0.36781

q.5 B) Attempt any ONE of the following questions. [4 Ml
i) An insura.nce company receives three types of. policy application bundles

daily from its head office for data entry and filing. The time (in minutes)
required for each type for these two operations is given in'the following
table.

Policy 1 2 3
Data Entry 90 L20 180
Filine t40 110 100

Find the sequence that minimizes the total t ime required to complete the entire
task. Also find the total elapsed time and idle times for each operation.
i i) For the following data find the regression l ine of Y and X.

q.6 c)
i)

Hence find the most l ikely value of Y when X=4.
Attempt any ONE of the following questions. (Activity! [4 MI
A bil l was drawn on 14 April for Rs 7000 and was discounted on 6 July at
5% p.a. The banker paid Rs 5930 for the bil l . Complete the following
activity to find, the period of the bill by filling boxes in the following
activity.

X 1 2 3
Y z t 6



Solution:
Face value (So1 = Rs 7000, r= 5 Yo, Cash Value (cv1 = Rs 6930

BD = Rs. l-l
BD=il#

n = [l d.yt
be counted from date ol5Iggting,,i' e' 6 July

N r r m h p r  o f to be coun

July Aug sep Total

25 31 n n
H..* p".i,td of the bill = l-l months'

i i ) Find the equation of trend line for the following data showing production

of steel (in mill ions of tonnes) for years t974 to 1982 by fi l l ing boxes in the

L"t.qr"'t^ 
"f 

trend line be Yt' = [-l 
--- (1'

(21The normal equations are

ZYr=no' + b'Lu

Zyr= 57,  Zu = o,  Lu '  -  6o '  LuYt=38

al= f] b'= |- l

Hence Equation of trend line is Yt = [-l

following act
t978 L979 1980 1981 ],982

Year
t

L974 t975 t976 L977

9 8 5 4 8 L0
Production

Vt

0 4 9

Year t Production Yt u=t -1978 ut uYt

L974 0 -4 16 0

9 -t2
t975 4 -3

-2 4 -18
t976 9

L -9
t977 9 -1

L978 8 0 0 0

L979 , 5 t L 5

1980 4 2 4 8

9 24
1981- 8 3

4 16 40
L982 10

Total \r,=',
0 2",

=60 l*,-tu

########################
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Q A. Setect the correct option and rewrite the sentence.
1) Pr inciple of is not appl icable to l i fe insurance
A) insurable interest B) utmost good faith C) indemnity
2) In onl ine Shopping customers put the product in
A) shopping mal l  B) Shopping cart  C) Shopping bag
3) Wa rehouses provides fa ci I i t ies for perisha ble
Commodity
A) Bonded B) cold storage C) Government
4) Retail market is the market where retailer sells good directly to the

in smal l  quant i t ies.
A) Producer B) whole sel ler  C) consumer
(5) Start-up India is an in i t iat ive of  the.
A) RBI B) Government of  lndia C)World Bank

Bl Match the pairs:

; the proce* Jrt'nrrrr*ting gr:id'i::'
communicat ing and mot ivat ing2) Direct ing cor

3) Responsibil i ty towards Government 2. Scientif ic Management Theory
4) .Digital cash 3. lt is the process of recruiting, selecting
5) Monopoly,  Placing and remunerat ing

4. To earn:' profit '

5.  Respect ing rules and regulat ion

i :ffil"Tll[evoerspace
8. Modern management theory
9. Single sel ler
10. Exist everywhere

C. Give one word /phraselterm for the following statements. {CIS}
1) The transaction which is done with the help of the internet.
2) A function of creating something new for an Economic activity
3) A Place where the goods and services are bought and sold
4) one who consumes or use any Commodity or serVice
5) Earning foreign exchange is the responsibil i ty of the organisation towards this
group

Dl state whether following statements are true or false (05)

1) Business services are important for the growth of business
2) Lok adalat can rightly be described as people Court
(3) Standards are not set for every performance in controll ing function
4) Consumer Protection act provides protection to the producer.
5) Business ethics is a code of conduct

flUpc l tX Tc\'q o\2-;l po-q oo l ocn\t o (80)

(0s)



1) Management 2) Janhit Yachika

3) concept of trusteeship 4) out sourcing

5) Warehousing 6) Agro-tourism

'

e 3 Study the following case/situation and express your opinion (Any 2)

(06)

1) Mr.  Sahi l  is  young MBA degree holder Mr.  Naresh is B Com graduate.  Mr.  Sahi l  is

wi l l ing to start  dairy farm at his v i l lage. Mr.  Naresh is wi l l ing to work as cashier in

private comPanY.

1) Find out dream of Sahi l  and Naresh

2) State anyone feature a of Entrepreneur.

3)To become successful  entrepreneur which qual i t ies Mr.  Sahi l  should have?

.2) Mr.  Ravi  an emergining entrepreneur has designed a structure of  h is business

organisation by taking into consideration the required resources such as land,
: i '  monev, machinary, workforce etc, for his new business. He appointed Mr. Sam as

manager.Mr. Ravi has assigned the responsibil i ty such as recruitment, selection,

t ra in ing and development and to determine the remunerat ion of  the employees'  to Mr '  Rqv, '

Mrlgam has also of appointed Mr. Shubham to supervise the worK done by

employees according to the standards given to the employees. Mr.Shubham has to

also suggest the remidies to the employees wherever necessary,

on this context, f ind out the management functions performed by.

1) Mr.  Ravi

2 )  Mr .  Sam

3)  Mr .  Shubham

3) Mr X Purchase goods from nearest shop. Mr.Y Purchase mobile's from

Tokyo. Ml.Zof Nandurbar purchases electronic goods from Delhi

A) From which types of  market does Mr.  X Purchase?

B) Name the type of market from where Mr. Y deals.

C) State the type of market from where Mr. Z purchase goods.



Q 4 Distinquish between the foltowing (Any 3) (12)

1) Direct ing and control l ing.

2) State commission and National commission

3) Road Transport and Air Transport

4) Traditional business and E-business.
/  ^ \

Q 5 Answer in brief (Anyz) ( 0g )

1) Explain 4P's of  product market ing mix

Zj  wt" , r t  is  outsourcing? l l lustrate wi th sui table example

3) What is business ethics? What are elements of  business ethics? \
Q 5 Justify the fotlowing statements. (Any 2) ( O g 

)

L) Planning is the first/ basic function of management.

Zl  Pr inciple of  Subrogat ion is appl icable to al l  Contracts Of Indemnity

3) The consumer protection act was passed in the interest of consumers.

4) l t  is  easy to set  up E business as compared to t radi t ional  business
(10)

. Q 7 Attempt the following (AnY 2)' 
1) What is sotial responsibil i ty of Commercial organisation towards consurners?

2\ Explain any f ive pr inciple of  management given. by Henry Fayol

3) Explain the qualit ies of successful entrepreneur

(08)Q 8 Answer the following (Any 1)

1) Define marketing. Explain the function of marketing in detail.

2) Who is consumer? Explain the rights of the Consumer. .



I

M L Dc lsYlc I ob1tvf f tr)too-4olls( lsO
Ql a) select the correct option and rewrite the sentence: (0s)

means mix up of various sources of funds in desired
proportion.

(Capital budgeting, Capital structure, Capitat goods)
2) The holder of preference share has right to receive rate of dividend.

{Fixed, Fluctuating, lower}
3) Under a company offer its securities to a select group of

persons not exceeding 200.
(Private placement , lpo, public offer)

4I Mcney from ...- account is used for redemption of debentures.
(Capital, Debenture redemption reserve, profit or loss)

5) Deposit is a type of _.
(Owned capital, Short term loan, Long term lcan)

ql b) Match the pairs:

Group A

1) Regret letter
2) Charge on assets b) Maximum 36 months
3) Tenure of deposit c) Non allotment of shares

1)

4l Depository Act
s) BSE

(0s)

Group B

a) Unsecured debenture

d) Maximum 30 months
e) 1996

f) Allotment of shares
g) Secured debentures
h) 19s6

i) One of the oldest stock exchange in India
j) Newest stock exchange in lndia

i



Q1 c) Write a word or a term or a phrase which can substitute each of the following

statements: ( OS )

1) Shares given free of cost to the existing equity shareholders.

2) Return on investment in debentures.

3) Instrument for payment of interest on deposits.

4) This process converts securities into electronic form from physical form.
5) The meeting where final dividend is declared.

Ql d) State true or false: (051

1) Div idend cannot be paid out of  capi ta l .

2) The member transferring shares is called as transferor.

. 3) Debenture holders have no voting rights.

4l Primary market is also known as new issue market.

5) Shareholders decide about the rate of amount of profit to be given as dividend.

Q2 Explain the following terms: (Any a) (08)

1) Investment decision

2) Trade credit

3)  FPO

4) Credit rating

5) Rematerialization

6) Unpaid div idend

Q3 Study the following case/situation and express your opinion (Any 2) (06)

1) Mr. D wants to demat his 20 shares of Pink Co. Ltd bearing certif icate no. 100 and

distinctive no. 76-100.

a) Which form is he required to fi l l  as a written request to the DP?

b) Does he have to fi l l  instrument of transfer if he wishes to transfer the same

after demat?

c) Does he have to quote certif icate no. and distinctive no. if he wishes to

transfer his shares after it is in demat form?



2) Mr' Ragirh, an individualinvestor, invests his own funds in the securit ies. He
depends on investment income and does not want to take any risk. He is
interested in definite rate cif income and safety of principal.
a) Name the type of security that Mr. Raghu wil l opt for.
b) \n/hat does he receive as return on investment?
c) The return on investment which he receives is fixed or fluctuating?

3) ABc financial plans to raise Rs 10 crores by issuing secured, non-convertible
debentures. However, as per the Articles of association, the board of directors
have authority only to raise upto 5 crores. They are also considering whether to
go for private placement or make public offer. Please advise them on the
following:

- a) What can be the maximum tenure of the debentures to be issued?
b) ts the proposed issue within the borrowing powers of the board?
c) Within what period should company issue debenture certif icate?

Qa Distinguish between: (Any 3) $Z,t
1) Shares and Debentures
2) IPO and FPO
3) Inter im div idend and Finaldiv idend
4) Money market and Capital market.

Q5 Answer in brief: (Any Z) (08)

1) Explain the provisions related to circular or advertisement for invit ing deposits?
2l Explain the features of interest?
3) Explain the functions of stock exchange?

Q6 Justify the foltowing statements: (Any 2) (08)

1) The Securit ies and Exchange Board of lndia (SEBI) is the regulator for the
secur i t ies market in lndia.

2l  Electronic holding of  secur i t ies is 'safer than physical  holding.
3) capital structure is composed of owned funds and borrowed funds.
4) A company can issue only certain types of  debentures.



{10)Q7 Attempt tt 
" 

toltowing: (AnY 2)

1) Write a letter to the debenture holder regarding payment of interest

electronicallY.

2) Write a letter to the depositor regarding renewal of his deposit.

3) Write a letter to the member for the issue of share certificate.

Q8 Answer the following: (Any 1) (081

1) What is an equity share? Explain its features

Zl Briefly explain the provisions of Companies Act 2013 for issue of debent. \Ye ?

T
w
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